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General Knowledge / açWýç»S pûçX / açWýçÌ[ýS pûçX
1. Nuclear explosive devices were tested in India at :

\öç»TöTö Yç»]çS×[ýEõ ×[ýãØö·õç»S» (å[ýç]ç) Y»Ýlùç Eõ’Tö Eõ»ç c÷Ì̂  :
\öçÌ[ýãTöÌ[ý YçÌ[ý]çS×[ýEõ ×[ýãØö·õç Ì[ýS (å[ýç]ç) YÌ[ýÝlùç åEõçUçÌ̂  EõÌ[ýçãXç c÷Ì̂  :
a) Sri Harikota b) Bangalore c) Pokhran d) Kanchipuram

`ÒÝ c÷×»ãEõç$RôOç [ýç†çã_ç»Ó åYçF»çX Eõç×‡ûYÇ»]
Ò̀Ýc÷×Ì[ýåEõçOôç [ýç†ç_ÇÌ[ý»Ó åYçEõÌ[ýçX Eõç×‡ûYÇÌ[ý]

2. 100% concession has been given for travelling in the railways for the patients of :
åEõçX aEõ_ å»çGÝEõ 100% ×[ýXç]É_ÝÌ^ç å»_ }]S» aÇ×[ýWýç ×VÌ^ç éc÷ä$K÷ ?
XÝäJôÌ[ý åEõçX åÌ[ýçãGÌ[ý åÌ[ýçGÝãVÌ[ý ×[ýXç]Éå_î åÌ[ý_ }]ãXÌ[ý aÇ×[ýWýç åVCÌ̂ ç c÷Ì̂  ?
a) AIDS b) Cancer c) TB d) Swine flue

Ac÷OQËö$K÷ åEõ‡ûç» ×$RôO.×[ý. æ$K÷ç¾çc÷OX ZÀÇõ
A+QËöK÷ åEõ³açÌ[ý ×Oô.×[ý. åaçÌ̂ ç+X ZÀÇ

3. The Indian Air Force (IAF) has changed its formal colour ‘Blue’ into :
\öç»TöÝÌ^ ×[ý]çX [ýç×c÷XÝãÌ^ YÇ»×S XÝ_ç»Iø» Y×»[ýãTöÛ A×TöÌ^ç ×Eõ »Iø [ýî¾c÷ç» Eõã» ?
\öçÌ[ýTöÝÌ̂  ×[ý]çX[ýç×c÷XÝ XÝã_Ì[ý Y×Ì[ý[ýãTöÛ [ýTöÛ]çãX ×Eõ Ì[ýIø [ýî[ýc÷çÌ[ý EõãÌ[ý ?
a) White b) Light Grey c) Green d) Yellow

[ýGç YçTö_ WýÉa» åaQöOLÝÌ̂ ç c÷ç_WýÝÌ̂ ç
açVç c÷ç_Eõç WýÉaÌ[ý a[ýÇL c÷_ÇWý

4. The language spoken by the greatest number of people in the world is :
YÊ×U¾Ý» %×WýEõ aeFîEõ å_çãEõ ×Eõ \öçbç [ýî¾c÷ç» Eõã» ?
YÊ×U[ýÝÌ[ý a[ýïç×WýEõ aeFîEõ å_çãEõ ×Eõ \öçbç [ýî[ýc÷çÌ[ý EõãÌ[ý ?
a) English b) French c) Arabic d) Mandarin

c÷Oe»çLÝ ZÐõç³a %ç»[ýÝ ]ç³Vç×»X
+eÌ[ýçLÝ ZÐõç³a %çÌ[ý[ýÝ ]ç³Vç×Ì[ýX

5. ‘DIET’ is the parliament of :
‘DIET’ åEõçX åV`» aeaV ?
‘DIET’ åEõçX åVã Ì̀[ý aeaV ?
a) Spain b) Germany c) Japan d) Israel

å&c÷OX Lç]ïçXÝ LçYçX c÷OL»çc÷O_
å&+X Lç]ïçXÝ LçYçX +LÌ[ýç+_
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Time/a]Ì^ : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (25+25+25+25)=100
INSTRUCTIONS / ×XãVÛ`ç¾_Ý / ×XãVÛ`ç[ý_Ý
1. Attempt All Questions / YÒãTöîEõä$RôOç YÒ Ầ» QöOwø» Eõ»ç / YÒãTöîEõ×Oô YÒä ẦÌ[ý =wøÌ[ý VçC
2. There are four options to every question. Choose the correct option by putting any one of a, b, c or d, in the box

YÒ×Töä$RôOç YÒ`Â» $Jôç×»$RôOç ×[ýEõ” QöOwø» ×VÌ^ç %çä$K÷* £ˆù QöOwø»ä$RôOç [ýç×$K÷ QöO×_Ì^çc÷O EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*
YÒ×Tö×Oô YÒä ẦÌ[ý JôçÌ[ý×Oô ×[ýEõ” =wøÌ[ý åVCÌ̂ ç %çäK÷* a×PöEõ =wøÌ[ý×Oô å[ýäK÷ Yçã »̀ UçEõç [ýçåj a, b, c A[ýe d ×_F*
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6. The creature that can move its eyes in two different directions at the same time is :
åEõçX YÒçSÝãÌ̂  AãEõ$RôOç a]Ì^ãTö VÇãÌ^ç$RôOç $JôEÇõ å[ýã_G å[ýã_G ×V`Tö HÇ»ç[ý Yçã» ?
åEõçX YÒçSÝ AEõ+ a]ãÌ̂  VÇOôç æJôçFãEõ VÇ×Oô %ç_çVç %ç_çVç ×VãEõ åHçÌ[ýçåTö YçåÌ[ý ?
a) Cockroach b) Chameleon c) Butterfly c) Crocodile

Ygc÷OTöç$æ$Jôç»ç åTöL×YÌ̂ ç Y×F_ç Hg×»Ì̂ ç_
%çÌ[ýå`ç_ç ×GÌ[ý×GOô YÒLçY×Tö EÇõ]ÝÌ[ý

7. Choose the correct answer :
£ˆù QöOwø» ×[ý$Jôç×» QöO×_C¾ç :
£ˆù =wøÌ[ý FgÇãL [ýç×c÷Ì[ý EõÌ[ý :
              A          B
a) Mahasweta Devi i) Assamese

]c÷çã`ŸTöç åV[ýÝ %a]ÝÌ^ç
]c÷çã Ÿ̀Töç åV[ýÝ %a]ÝÌ̂ ç

b) Indira Goswami ii) Bengali
c÷O×³V»ç åGçØ‘öç]Ý [ýçe_ç
+×³VÌ[ýç åGçØ‘öç]Ý [ýçe_ç

c) Rajendra Keshawal Shah iii) Kannada
»çãL³VÐ åEõ`¾ç_ `Ÿçc÷ EõçXçQÍöç
Ì[ýçåL³VÐ åEõ Ì̀̂ ç_ ̀ Ÿçc÷ EõçXçQÍöç

d) Girish Karnad iv) Gujrati
×G»Ý` Eõç»XçQö mL»ç$RôOÝ
×GÌ[ýÝ` EõçÌ[ýXçQö mLÌ[ýçOôÝ

a) a - i,  b - ii,  c - iv,  d - iii b) a - ii,  b - i,  c - iv,  d - iii
c) a - i,  b - ii,  c- iii,   d - iv d) a - ii,  b - i,  c - iii,  d - iv

8. The computer language ‘Java’ has been named after a famous make of :
Eõ×+QöO$RôOç» \öçbç Lç\öç (Java) ×Eõc÷» CY»Tö Xç]çEõ»S Eõ»ç éc÷ä$K÷ ?
Eõ×¶Y=OôçÌ[ý \öçbç Lç\öç (Java) XÝäJôÌ[ý åEõçX ×[ýFîçTö ×L×XãbÌ[ý ×X]ïçTöçÌ[ý =YÌ[ý Xç]çEõÌ[ýX c÷Ì̂  ?
a) Chocolates b) Coffee c) Fruit d) Steel

$JôEõã_$RôO Eõ×Zõ Zõ_ rôÝ_

9.  is the logo of :

CY»» $K÷×[ýä$RôOç ×Eõc÷» YÒTöÝEõ ?
CYåÌ[ýÌ[ý YÒTöÝ»Eõ ×Jôc÷Ô XÝäJôÌ[ý åEõçX×OôÌ[ý ?
a) L.I.C.I. of India b) Welcome group c) Delhi University d) Guwahati University

\öç»TöÝÌ̂  LÝ¾X [ýÝ]ç ×XG] å¾_Eõç] GÐÓY ×V{Ý ×[ý Ÿ̀×[ýVîç_Ì̂ m¾çc÷ç$RôOÝ ×[ý Ÿ̀×[ýVîç_Ì̂
\öçÌ[ýTöÝÌ̂  LÝ[ýX [ýÝ]ç ×XG] CãÌ̂ _Eõç] GÐÓY ×V{Ý ×[ý Ÿ̀×[ýVîç_Ì̂ mÌ̂ çc÷çOôÝ ×[ý Ÿ̀×[ýVîç_Ì̂
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10. Indigo,  Spicejet,  Kingfisher,  Jetlite are names of :
c÷O×‰øãGç, &çc÷O$JôãL$RôO, ×Eõe×Zõ$Jôç», åL$RôO_çc÷O$RôO %ç×V ×Eõc÷» Xç] ?
c÷O×‰øãGç, &çc÷O$aãL$RôO, ×Eõe×Zõ$açÌ[ý, åL$RôO_çc÷O$RôO ×EõãaÌ[ý Xç] ?
a) Drinks b) Air Service c) Hotel d) Garments

YçXÝÌ̂ ×[ý]çX åa¾ç åc÷çä$RôO_ açL-ãYç$K÷çEõ
YçXÝÌ̂ ×[ý]çX åa[ýç åc÷çãOô_ EõçYQÍöäJôçYQÍö

11. The number of books in the New Testament is:
×XQöO æ$RôOrôçã]³RôOTö åEõc÷OFX ×EõTöçY %çä$K÷ ?
[ý+åÌ̂ Ì[ý aeFîç [ýç+ã[ýã_Ì[ý ×X= åOôrôçã]ä³O  EõTö ?
a) 12 b) 22 c) 27 d) 32

12. Which of the following you can see from space :
Tö_» åEõçXä$RôOç ]c÷çEõç`» Y»ç åVFç åYç¾ç ^çÌ̂  ?
]c÷çEõç` åUãEõ åVFãTö YçCÌ̂ ç ^çÌ̂  :
a) Great wall of China b) Statue of Liberty c) Great Barrier Reef d) Leaning Tower of Pisa

$JôÝX» ]c÷ç YÒç$JôÝ» æºRôO$JÇô %¾ ×_[ýç×$RôOÛ æGÐ$RôO å[ý×»Ì^ç» »ÝZõ ×Y$K÷ç» åc÷_XÝÌ^ç Ø™öÞö
JôÝãXÌ[ý ]c÷çYÒçJôÝÌ[ý æºRôO$JÇô %[ý ×_[ýç×$RôOÛ æGÐ$RôO å[ý×Ì[ýÌ̂ çÌ[ý Ì[ýÝZõ ×_×Xe OôçCÌ̂ çÌ[ý %[ý Yaç

13. Which river is declared as the National river of India ?
åEõçX XVÝEõ \öç»Tö» »çrÑôÝÌ^ XVÝ [ýÇ×_ åHçbSç Eõ»ç éc÷ä$K÷ ?
XÝäJôÌ[ý åEõçX XVÝãEõ Ì[ýçrÑôÝÌ̂  XVÝ ×c÷açã[ý åHçbSç EõÌ[ýç c÷Ì̂  ?
a) Ganga b) Godavari c) Yamuna d) Brahmaputra

GeGç åGçVç[ý»Ý ^]ÇXç [ýÐ¡ùYÇy
GeGç åGçVç[ýÌ[ýÝ ^]ÇXç [ýÐ¡ùYÇy

14. ‘Young World’ is a supplement for the children of the newspaper :
×`£ aEõã_ç» [ýçã[ý ‘c÷OÌ^e ¾DQïö’ åEõçXFX éV×XEõ EõçEõTö» aeã^çLX ?
æK÷çOôåVÌ[ý LXî ‘+Ì̂ e CÌ̂ çDQïö’ åEõçX éV×XEõ Y×ÅyEõçÌ[ý åyÔçQÍöYy ?
a) The Assam Tribune b) The Times of India c) The Hindu d) The Pioneer

×V %ç$K÷ç] ×®Ïô×[ýQöOX ×V $RôOçc÷O]$JËô %¾ c÷O×‰øÌ̂ ç ×V ×c÷³VÇ ×V Yçc÷OC×XÌ̂ ç»
×V %çaç] ×®Ïô×[ý=X ×V Oôç+]aË %[ý +×‰øÌ^ç ×V ×c÷³VÇ ×V Yç+C×XÌ̂ çÌ[ý

15. Pt. Hariprasad Chaurasia plays on :
Y×‰øTö c÷×»YÒaçV æ$Jôì»ç×$JôÌ^ç ×Eõ [ýçVî^Ü—ö» _GTö L×QÍöTö ?
Y×‰øTö c÷×Ì[ýYÒaçV æJôìÌ[ýç× Ì̀̂ ç åEõçX [ýçVî^ãÜ—öÌ[ý açãU L×QÍöTö ?
a) The Guitar b) The Sitar c) The Flute d) The Sarod

GÝ$RôOç» ×$JôTöç» [ýgçc÷Ý aã»çV
GÝOôçÌ[ý åaTöçÌ[ý [ýgç`Ý aåÌ[ýçV

16. The Delhi Sultan known as ‘Wishest fool’ :
åEõçXLX ×V{Ý» $JÇô_TöçXEõ ‘pûçXÝ ]ÉFï’ [ýÇ×_ LXç ^çÌ^ ?
×V{ÝÌ[ý åEõçX aÇ_TöçXãEõ ‘ »pûçXÝ ]ÉFï’ [ý_ç c÷Ì̂  ?
a) Ala-uddin Khilji b) Mahammad-Bin Tuglaq c) Iltutmish d) Giyas Uddin Balban

%ç_çQöO×©X ×F×_LÝ ]c÷=ö‚V ×[ýX åTöçG_Eõ c÷O_TÇöTöË×]$K÷ ×GÌ̂ ç$K÷QöO×©X [ý_[ýX
(3)



17. “Padma” Awards are given away by :
Y²¿ [ýg$RôOç a]Éc÷ åEõçãX YÒVçX Eõã» ?
Y²¿ YÇÌ[ý•õçÌ[ý åEõ YÒVçX EõãÌ[ýX ?
a) The President b) The Prime Minister

»çrÑôY×Tö YÒWýçX]Ü—öÝ
Ì[ýçrÑôY×Tö YÒWýçX]Ü—öÝ

c) The Chief Justice of Supreme Court d) The Vice President
QöO¬JôTö] XîçÌ̂ ç_Ì̂ » ]ÉFî XîçÌ̂ ×V` QöOY»çrÑôY×Tö
aÇYÒÝ] åEõçÌåOôÌ[ý ]ÉFî XîçÌ̂ çWýÝ` =YÌ[ýçrÑôY×Tö

18. In the last edition of Nehru Cup (Football) India won the trophy defeating :
å^ç¾ç[ýç» åXc÷»Ó EõçYTö (ZÇõ$RôO[ý_) \öç»ãTö åEõçX åV`Eõ c÷»Ó¾çc÷O ®ÏôZõÝ VF_ Eõ×»×$K÷_ ?
GTö åXc÷Ì[ý»Ó EõçãY (ZÇõOô[ý_) \öçÌ[ýTö åEõçX åV`ãEõ Zõç+Xçã_ c÷ç×Ì[ýåÌ̂  ®Ïô×Zõ×Oô VF_ Eõã»Ì[ý ?
a) Thailand b) Syria c) Kyrgyzstan d) South Korea

Uçc÷Oã_‰ø ×$Jô×»Ì̂ ç ×Eõ»GÝØšöçX V×lùS åEõç×»Ì̂ ç
Uç+ã_‰ø ×a×Ì[ýÌ̂ ç ×EõÌ[ý×GØšöçX V×lùS åEõç×Ì[ýÌ̂ ç

19. Anil is taller than Sunil but Dilip is taller than Kamil. Kamil is taller than Anil and Sunil. Who is the tallest boy ?
%×X_ aÇXÝ_TöêEõ CF ×EõÜ™Çö ×V×_Y Eõç×]_TöêEõ CF* Eõç×]_ %×X_ %ç»Ó aÇXÝ_TöêEõ CF c÷ã_ %ç$RôOçc÷OTöêEõ CF åEõçX ?
%×X_ aÇXÝ_ åUãEõ _¶‘öç ×EõÜ™Çö ×V×_Y Eõç×]_ åUãEõ _¶‘öç* ^×V Eõç×]_ %×X_ %çÌ[ý aÇXÝ_ åUãEõ _¶‘öç c÷Ì̂ , Töçc÷ã_ a[ýJôç+åTö _¶‘öç åEõ ?
a) Kamil b) Anil c) Dilip d) Sunil

Eõç×]_ %×X_ ×V_ÝY aÇXÝ_

20. Ganga, Kaveri, Krishna and Yamuna are :
GeGç, Eõçã[ý»Ý, EÊõbÕç %ç»Ó ^]ÇXç :
GeGç, Eõçã[ýÌ[ýÝ, EÊõbÕç A[ýe ^]ÇXç c÷_ :
a) Actress b) All sister c) Model d) Rivers

Xç×Ì^Eõç \öXÝ ]ãQö_ XVÝ
Xç×Ì̂ Eõç å[ýçX ]ãQö_ XVÝ

21. What will be the next number in the series : 2, 5, 9, 14, .........  ?
æ`ÒSÝä$RôOç» Y»¾TöÝÛ aeFîçä$RôOç ×Eõ ?
A+ ̀ Ê…_çÌ̂  YÌ[ý[ýTöÝÛ aeFç ×Eõ c÷ã[ý ?
a) 20 b) 18 c) 19 d) 17

22. ‘Democracy is by the people, for the people and of the people’ - this was said by :
GXTöÜ—ö LXaçWýç»S» ¥ç»ç G×PöTö LXaçWýç»S» Eõç»ãS LXaçWýç»S» $Jô»Eõç» - [ýÇ×_ åEõçãX éEõ×$K÷_ ?
GXTöÜ—ö LXaçWýçÌ[ýåXÌ[ý ¥çÌ[ý»ç G×PöTö LXaçWýçÌ[ý»ãXÌ[ý LXî LXaçWýç»Ì[ýãXÌ[ý aÌ[ýEõçÌ[ý - åEõ [ýã_×K÷ã_X ?
a) Aristotle b) Abraham Lincoln c) Rousseau d) J.S. Mill

A×»rô$RôO_ %ç[ýÐçc÷ç] ×_eEõX »Óä$Jôç åL.A$K÷. ×]_
A×Ì[ýrôOô_ %ç[ýÐçc÷ç] ×_eEõX Ì[ý»Óä`ç åL. Aa. ×]_
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23. Euro Cup is associated with :
‘c÷OQöOã»ç’ (Euro) EõçY ×Eõ åF_» _GTö L×QÍöTö ?
‘+=å»Ì[ýç’ (Euro) EõçY åEõçX åF_çÌ[ý açãU L×QÍöTö ?
a) Cricket b) Chess c) Badminton d) Football

×yÔãEõ$RôO `Tö»t å[ýQö×]³RôOX ZÇõ$RôO[ý_
×yÔãEõ$RôO `TöÌ[ýt [ýîçQö×]³RôOX ZÇõ$RôO[ý_

24. The Elephant Falls is situated at
A×_åZõ³RôO L_YÒYçTö Eõ’Tö %¾×ØšöTö
A×_Zõîç³Oô L_ YÒYçTö åEõçUçÌ̂  %[ý×ØšöTö
a) Simla b) Shillong c) Serapunji d) Patna

×$Jô]_çTö × Ÿ̀_eTö æ$Jô»çYÇtÝTö Yç$RôOXçTö
×a]_ç ×`_e æJôÌ[ýçYÇtÝ YçOôXç

25. A said, X is my mother. X said D is not my son. D said, X is my mother but A is not my brother. what is the relation
between A and D ?
A åÌ̂  éEõä$K÷ X å]ç» ]ç* X åÌ̂  éEõä$K÷ D å]ç» _’»ç Xc÷Ì^* D åÌ̂  éEõä$K÷ X å]ç» ]ç ×EõÜ™Çö A å]ç» \öçTÊö Xc÷Ì^* åTöãÜ™ö A %ç»Ó D » a+Eïõ ×Eõ ?
A [ýã_ X %ç]çÌ[ý ]ç* X [ýã_ D %ç]çÌ[ý æ$K÷ã_ XÌ̂  D [ýã_ X %ç]çÌ[ý  ]ç ×EõÜ™Çö A %ç]çÌ[ý \öçc÷O XÌ^* Töã[ý A %çÌ[ý  D AÌ[ý a+Eïõ ×Eõ ?
a) Brother b) Brother and sister c) Sister d) Mother and Daughter

\öçTÊö \öçTÊö-\öGÂÝ \öGÂÝ ]çEõ-LÝãÌ̂ Eõ
\öçc÷O \öçc÷O-ã[ýçX å[ýçX ]ç-ã]ãÌ̂

General English

26. ....... he been more careful, he would have spotted the mistake.
a) Were b) Had c) Has d) Is

27. If I ....... you, I wouldn’t risk it.
a) had been b) am c) would be d) were

28. If I pay you twice as much,....... to finish by Tuesday?
a) are you able b) is it  able c) will you  be able d) can you be able

29. In winter time, bears hide themselves in caves and ........
a) hibernate b) take a nap c) snooze d) relax

30.`You need not worry that you’ll be left on your own because I’ll always ....... you.
a) stand for b) stand to c) stand by d) stand from

31. Students were given five minutes to ....... the examination paper before they were told to start writing.
a) look after b) look through c) look into d) look up

32.Our new teacher is so ........ If we don’t understand something, she goes over it again and again until we do.
(a) lazy (b) shy (c) patient (d) friendly

(5)



33. The scheme will be ....... into the school curriculum at the beginning of next academic year.
a) entered b) presented c) welcomed d) introduced

34. It’s a long way we have to travel tomorrow. So we must get up very early in the morning at the crack of .......
a) dawn b) crow c) day d) sun

35. If you really want to send that letter off today, it’s ....... time you went to the post office.
a) high b) quick c) proper d) right

36. Welcome to our house. Come in and make yourself ........
a) comfortable b) easy (c) relaxing (d) comforting

37. You just ....... touch that piece of paper and I’ll kill you.
a) Attempt  b) dare c) try d) endeavour

38. The police broke ____ the temple when they got information that a terrorist was hiding in it.
a) Into b) Up c) No preposition d) Out

39. You have to enter ____ the date of birth in the job application form.
a) Into (b)  In c) No Preposition d) On

40. He seldom  goes to parties.
a) does he b) doesn’t he ? c) should he ? d) Needn’t he ?

41. Dr. Iyer ______ in scientific research since 1950.
a) Has engaged b) Has been engaging c) Had engaged d) has been engaged

In the following questions you have to choose the phrase or word that comes next as a sequel or as a
response to the first sentence .

42. Q.    :  Did you follow all that?
Ans.:  No, ………………..

a) my mind’s a complete blank c) my mind’s a complete space
b) my mind’s a complete hole d) my mind’s a complete void

43 Q. :   What do you make of this test?
Ans.: It’s quite .......
a) beyond me b) below me c) behind me d) beside me

Select from the choices given below each sentence the word that is nearest in meaning to the word given
in  italics.

44. I was astonished to see my friend smoking in front of his elder brother.
a) Happy b) Amazed c) Pleased d) Angry

(6)



45. My friend has a fascination for antique things.
a) Strange b) Funny c) Ancient d) Modern

Select from the choices given below each sentence the word that is opposite in meaning to the word given
in  italics.

46. I found it difficult to accept his proposal.
a) Reject b) Dismiss c) Decline d) Disagree

47. The Minister said, “ My predecessor didn’t do enough to eradicate poverty”.
a) Heir b) Follower c) Descendant d) Successor

Tick mark the right choice on the basis of the relationship shown in the first part of the question :

48. Nainital is to hills as Jaisalmer is to  :
a) Fort b) Border c) Desert d) Security

49. Paper is to pen as garden is to :
a) Flowers b) Health c) Spade d) Lawn

50. Morning is to Noon as Youth is to :
a) Energy b) Childhood c) Love d) Old age

General Mathematics / açWýç»S G×STö / açWýçÌ[ýS G×STö

51. Which of the following is a perfect square ?
Tö_» åEõçXä$RôOç A$RôOç YÉSï [ýGï ?
XÝäJôÌ[ý åEõçX×Oô AEõ×Oô YÉSï [ýGï ?
a) 0.09                      b) 8.1        c)     0.025 d)    None of these (A$RôOçC Xc÷Ì̂  / AEõ×$RôOC XÌ̂ )

52. 1
15

 ÷ ( 4
15

 + 1
3

) = ................

a) 1
9

b) 9  c) 1
5

d) 5
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53. Using only the paths and directions shown how many different routes are there from M to N ?
EõgçQÍö ×$JôX» ¥ç»ç åVFÇC¾ç A$RôOç YU A[ýç» [ýî¾c÷ç» Eõ×»ã_, M » Y»ç N é_ å^ç¾ç ×Eõ]çX$RôOç ×\ö~ »çØ™öç Uç×Eõ[ý ?
TöÝÌ[ý ×Jôäc÷ÔÌ[ý ¥çÌ[ýç åVFçãXç YU AEõ[ýçÌ[ý [ýî[ýc÷çÌ[ý EõÌ[ýã_ M åUãEõ N A ̂ çCÌ̂ çÌ[ý EõÌÌ̂ Oôç ×[ý×\ö~ Ì[ýçØ™öç UçEõã[ý ?

M

A B

NCL

a) 6 b) 4 c) 3 d) 2

54. What is the quotient when  (x2 + 6x + 5) is divided by (x+1) ?
(x2 + 6x + 5) Eõ (x+1) å» ×[ý\öçLî Eõ×»ã_ \öçGZõ_ ×Eõ c÷[ý ?
(x2 + 6x + 5) åEõ (x+1) ¥çÌ[ýç \öçG Eõ×Ì[ýå_ \öçGZõ_ ×Eõ c÷ã[ý ?
a) x - 5 b) x + 4 c) x - 1 d) x + 5

55. The product of the 9 fractions :
Tö_» X$RôOç \öGÂçe`» YÇ»SZõ_ c÷[ý :
XÝäJôÌ[ý XÌ̂ Oôç \öGÂçeå »̀ mXZõ_ c÷_ :
(1 - A) (1 - B) (1 - D) ............... (1 - P) = ..........

a) 10
11

b) 1
9

c) P d) A

56. If a, b and c are the sides of a triangle then.
^×V, a, b %ç»Ó c A$RôOç ×Åy\ÉöL» [ýç§ c÷Ì^, åTöãÜ™ö :
^×V a, b %çÌ[ý c AOôç ×Åy\ÇöãLÌ[ý ×TöXOôç [ýç§ c÷Ì̂ , Töçc÷ã_ :
a) a - b > c b) c > a + b c) a + b > c d) a + b = c

57. Which pair of numbers does not have a product equal to 36 ?
åEõçX å^ç» aeFîç» YÉ»SZõ_ 36  Xc÷Ì̂  ?
åEõçX åLçQÍöç aeFîçÌ[ý mXZõ_ 36 XÌ̂  ?
a) ( -4, -9) b) (-72, A) c) (-3, -12) d) (1, 36)

58. Find the area of the shaded portion in the figure given below :
Tö_Tö ×VÌ^ç ×$Jôy» $Kg÷çã» %ç[ýÊTö %e`» Eõç×_ QöO×_C¾ç*
XÝäJôÌ[ý åVCÌ̂ ç ×JôäyÌ[ý K÷çÌ̂ ç[ýÊTö %eã Ì̀[ý Eõç×_ EõTö ?

a) 114 cm2 b) 144 cm2 c) 49 cm2 d) 25 cm2

(8)
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59. Two-third of one fifth of a number is 6. What is the number ?
A$RôOç aeFîç» ×Tö×X \öçG» VÇc÷O %e`» AEõ Y‡û]çe` 6 c÷ã_ aeFîçä$RôOç ×Eõ ?
AEõ×Oô aeFîçÌ[ý ×TöX \öçãGÌ[ý VÇ+ %eã Ì̀[ý AEõ Y‡û]çe` 6 c÷ã_ aeFîç×Oô EõTö ?
a) 45 b) 60 c) 75 d) 90

60. The real factor of x2 + 4 are
x2 + 4 » [ýçØ™ö¾ QöOdYçVEõå[ýç» :
x2 + 4 AÌ[ý [ýçØ™ö[ý =dYçVEõm×_ :
a) (x2 + 4) (x2 + 2)     b)   (x2 + 2) (x2 - 2)      c)   (x2 - 2x + 2) (x2 + 2x + 2)      d)   do not exist (Xçc÷O / åX+)

61. If SI is fixed as a constant, then P
P

1

2
 = ..............

^×V a»_ aÇTö SI Eõ WýÐÓ¾Eõ ×c÷$JôçãY å_ç¾ç c÷Ì^, åTöãÜ™ö P
P

1

2
 = ..............           (P, T,R yÔã] ]É_WýX, a]Ì̂  %ç»Ó aÇTö» c÷ç»)

^×V aÌ[ý_ aÇVãEõ SI AÌ[ý WýÐÓ[ýEõ ×c÷açã[ý _CÌ̂ ç c÷Ì̂ , Töçc÷ã_ P
P

1

2
 = ..............         (P, T,R yÔã] ]É_WýX, a]Ì̂  A[ýe aÇãVÌ[ý c÷çÌ[ý )

a) T R
R

1

2 2

1

T
                      b)    T R

R
1

2 1

1

T
                     c)      T R

R
2 2

1 1T
          d)    None of these (A$RôOçC Xc÷Ì̂  / AEõ×$RôOC XÌ̂ )

62. Capacity of a tank is 70 Kl. If length and breadth of the tank are 7m and 5m respectively. Then its depth is ...............m
A$RôOç æ$Jôì¾ç¬Jôç» Wýç»S lù]Töç 70 ×Eõ.×_* ^×V æ$Jôì¾ç¬Jôçæ$RôOç» VÝH %ç»Ó YÒØšö yÔã] 7 ×]. %ç»Ó 5 ×]. c÷Ì^ åTöãÜ™ö c÷OÌ^ç» G\öÝ»Töç c÷[ý ..................... ×]
AEõ×Oô æJôì[ýç¬JôçÌ[ý WýçÌ[ýS lù]Töç 70 ×Eõf×_* ^×V +c÷çÌ[ý éVHïî A[ýe YÒØšö ^UçyÔã] 7 ×]. A[ýe 5 ×]. c÷Ì̂ , Töã[ý +c÷çÌ[ý G\öÝÌ[ýTöç c÷ã[ý ................. ×].
a) 2 b) 8 c) 9 d) 5

63. 8.63 x 8.63 - 1.37 x 1.37
0.756

 = .....................

a) 1000 b) 100 c) 10 d) 0

64. If X
y  = 3

4
, then the incorrect expression from the following is ................

^×V X
y  = 3

4
 c÷Ì̂ , åTöãÜ™ö Tö_» %£ˆù QöO×Nþä$RôOç :

^×V X
y  = 3

4
 c÷Ì̂ , Töã[ý XÝäJôÌ[ý %£ˆù a]ÝEõÌ[ýS åEõçX×Oô  :

a)  x + y
   y  = 

7
4

b)    y
 y - x = 

4
1

c)  x + 2y
   x

 = 

11
3

d)  x - y
   y  = 

1
4

65. For any two rational number x and y which of the following properties are correct ?
x %ç»Ó y ×^ åEõçãXç VÇ$RôOç Y×»ã]Ì̂  aeFîç» ålùyTö Tö_» åEõçXä$RôOç Wý]ï £ˆù ?
x A[ýe y A+ VÇ×Oô Y×Ì[ýã]Ì̂  aeFîçÌ[ý ålùäy XÝäJôÌ[ý åEõçX Wý]ï £ˆù ?
i) x < y ii) x = y iii) x > y
a) only i and ii are correct b) only ii and iii are correct

]çy i %ç»Ó ii £ˆù ]çy ii %ç»Ó iii £ˆù
i A[ýe ii £ˆù ii A[ýe iii £ˆù

c) only ii is correct d) all i, ii and iii are correct
]çy ii æ$RôOç  £ˆù i, ii %ç»Ó iii %ç$RôOçc÷OãEõc÷O$RôOç £ˆù
ii Xe ×$RôO  £ˆù i, ii A[ýe iii a[m×_ £ˆù

(9)
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66. The value of ( 
4
39  ÷ 

2
327

 ) x 

3
23

 is :

( 

4
39

 ÷ 

2
327

 ) x 

3
23

 » ]çX  :

( 

4
39

 ÷ 

2
327

 ) x 

3
23

 AÌ[ý ]çX :
a)

9
53

                   b)     

13
63

       c)      

37
63

d)    None of these (A$RôOçC Xc÷Ì̂  / AEõ×$RôOC XÌ̂ )

67. A and B can do a pice of work in 72 days, B and C can do it in 120 days and A and C can do it in 90 days. In how many
days can A do it alone ?
A  %ç»Ó B åÌ̂  A$RôOç Eõç] 72 ×VXTö Eõ×»[ý Yçã», B %ç»Ó C åÌ̂  Ac÷O Eõç]ä$RôOç 120  ×VXTö Eõ×»[ý Yçã» %ç»Ó A %ç»Ó C åÌ̂  Eõç]ä$RôOç 90 ×VXTö Eõ×»[ý
Yçã»* åac÷O Eõç]ä$RôOç A c÷O %Eõã_ ×Eõ]çX ×VXTö Eõ×»[ý Yç×»[ý ?
A A[ýe B AEõ×Oô EõçL 72 ×VãX EõÌ[ýãTö YçãÌ[ý, B A[ýe C AEõ+ EõçL EõÌ[ýãTö YçãÌ[ý 120 ×VãX %çÌ[ý A A[ýe C A+ EõçL EõÌ[ýãTö 90 ×VX ×XãÌ̂
UçãEõ* A AEõç EõTö ×VãX EõÌ[ýãTö YçÌ[ýã[ý ?
a) 150 b) 120 c) 100 d) 180

68. If ‘n’ is a prime number, then the L.C.M. of ‘n’ and ( n + 1) will be :
^×V ‘n’ A$RôOç å]ì×_Eõ aeFîç c÷Ì^ åTöãÜ™ö ‘n’ %ç»Ó (n + 1) » _façfm- c÷[ý :
^×V ‘n’ AEõ×Oô å]ì×_Eõ aeFîç c÷Ì̂  Töçc÷ã_ ‘n’ A[ýe (n + 1) AÌ[ý _façfm c÷ã[ý :

a) n2 b) (n + 1)2 c) n(n + 1) d)

n(n + 1)
   2

69. Any cyclic parallelogram having unequal adjacent sides is necessarily a.........................
×^ãEõçãXç $JôyÔÝÌ^ aç]çÜ™ö×»Eõ» ae_GÂ [ýç§ã[ýç» %a]çX c÷ã_ aç]Ü™ö×»Eõä$RôOç .......................... c÷[ý*
å^ãEõçãXç JôyÔÝÌ̂  aç]Ü™ö×Ì[ýãEõÌ[ý ae_GÂ [ýç§m×_ %a]çX c÷+ã_ aç]Ü™ö×Ì[ýEõ×Oô ...................... c÷ã[ý*
a) Square b) Rectangle c) Rhombus d) Trapezium

[ýGï %çÌ̂ Tö ålùy »=‘öç$K÷ (Ì[ý¶‘öça) æ®ÏôãY×LÌ̂ ç]

70. Raju secured 60% marks in Maths and 40% marks in English. Total marks alloted for Maths and English were 120
and 70 respectively. What average marks did Raju secure in Maths and English ?
»çLÇãÌ^ %eEõTö 60% X=‘ö» %ç»Ó c÷Oe»çLÝTö 40% X=‘ö» YçÌ̂ * ̂ ×V %eEõ %ç»Ó c÷Oe»çLÝ» ]ÇPö X=‘ö» yÔã] 120 %ç»Ó 70 c÷Ì̂  åTöãÜ™ö »çLÇãÌ̂  %eEõ %ç»Ó
c÷Oe»çLÝTö GåQÍö ×Eõ]çX X=‘ö» YçÌ^ ?
Ì[ýçLÇ %eEõãTö 60% A[ýe +eÌ[ýçLÝãTö 40% X¶‘öÌ[ý YçÌ̂ * ̂ ×V %eEõ A[ýe +eÌ[ýçLÝÌ[ý å]çOô X¶‘öÌ[ý yÔã] 120 A[ýe 70 c÷Ì̂ , Töçc÷ã_ Ì[ýçLÇÌ[ý %eEõ A[ýe
+eÌ[ýçLÝãTö GäQÍö EõTö X¶‘Ì[ý YçÌ̂  ?ö
a) 45 b) 55 c) 100 d) 50

71. A radio is bought for Rs. 1000 and sold for Rs. 1200. Find the gain percent ?
A$RôOç å»×Qö% 1000 $RôOEõçTö ×Eõ×X 1200 $RôOEõçTö ×[ý×yÔ Eõ×»ã_ `TöEõ»ç ×Eõ]çX _ç\ö c÷[ý ?
AEõ×Oô åÌ[ý×QöC 1000 OôçEõçÌ̂  yÔÌ̂  EõãÌ[ý, 1200 OôçEõçÌ̂  ×[ýyÔÌ̂  EõÌ[ýã_ ̀ TöEõÌ[ýç EõTö _ç\ö c÷ã[ý ?
a) 12 b) 15 c) 18 d) 20

72. The perimeter of a rectangle is 25.5m, its length is 9.5m. calculate its area.
A$RôOç %çÌ̂ Töãlùy» Y×»aÝ]ç 25.5 ×]. c÷OÌ̂ ç» éVHïî 9.5 ×]. c÷ã_ Eõç×_ ×Eõ]çX c÷[ý ?
AEõ×Oô %çÌ̂ TöãlùäyÌ[ Y×Ì[ýaÝ]ç 25.5 ×]. +c÷çÌ[ý éVHïî 9.5 ×]. c÷+ã_ Eõç×_ EõTö ?
a) 12.75 m2 (×])2 b) 30.875 m2 (×])2 C) 121.125 m2 (×])2 d) Not possible (aÞö¾ Xc÷Ì̂ )
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73. If 7x + 3 = 17, What is the value of 7x - 3 ?
^×V 7x + 3 = 17 c÷Ì^, åTöãÜ™ö 7x - 3 » ]çX ×Eõ ?
^×V 7x + 3 = 17 c÷Ì̂ , Töçc÷ã_ 7x - 3 AÌ[ý ]çX ×Eõ ?
a) 14 b) 11 c) 0 d) -3

74. The degree of a trinomial ax5 - bx4 + c is ...............
×ÅyYV »ç×` ax5 - bx4 + c » ]çyç .......
×ÅyYV Ì[ýç×` ax5 - bx4 + c AÌ[ý ]çyç .........
a) 9 b) 5 c) 4 d) 1

75. The missing fraction in the series given below is ...............
Tö_Tö ×VÌ^ç æ`ÒSÝä$RôOç» _ÇŠ \öGÂçe`ä$RôOç......................
XÝäJô åVCÌ̂ ç æ Ò̀XÝãTö _ÇŠ \öGÂçe` ...............

4
9

,    9
20

,   ..................,    45
100

a) 17
40

b) 19
42

c) 20
45

d) 29
53

General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýS ×[ýpûçX

76. The part of the digestive system lodging the maximum number of bacteria is :
Yç$JôX TöÜ—ö» åEõçXä$RôOç %e`Tö %ç$RôOçc÷OTöêEõ å[ý×$K÷ å[ýãkô×»Ì^ç UçãEõ ?
YçJôX TöãÜ—öÌ[ý åEõçX %eã` a[ýJôç+ãTö å[ý`Ý [ýîçãkô×Ì[ýÌ̂ ç UçãEõ
a) stomach b) oesophagus c) colon d) duodenum

YçEõØšö_Ý c÷O$K÷’ãZõGç$K÷ Eõ’_’X QÇö¾’ãQöXç]
YçEõØšö_Ý +aãZõGçaË ]_ç Ì̂̀ QÇö%ãQöXç]

77. The basic unit of proteins is :
YÒ×$RôOX» %çWýç» AEõEõä$RôOç éc÷ä$K÷ :
æYÒç×OôåXÌ[ý %çWýçÌ[ý AEõEõ c÷_ :
a) glucose b) fatty acid c) glycerin d) amino acid

GÀEõ’L åZõ×$RôO A×$JôQö ×GÀ$Jôç×»X A×]X A×$JôQö
ÌGÀÇãEõçL åZõ×Oô A×JôQö ×GÀaç×Ì[ýX A×]X A×JôQö

78. Which of the following is a bad conductor of electricity ?
Tö_» åEõçXä$RôOç ×[ýVÇîd» EÇõY×»[ýçc÷Ý ?
XÝäJôÌ[ý åEõçX×Oô ×[ýVÇîãTöÌ[ý EÇõY×Ì[ý[ýçc÷Ýõ?
a) air b) water c) iron d) human skin

[ýçÌ̂ Ç YçXÝ å_ç ]çX¾ ±¼öEõ
[ýçÌ̂ Ç L_ å_çc÷ç ]çX[ý ±¼öEõ
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79. A torch-light uses which of the following as the reflector ?
$RôO$JôÛ _çc÷O$RôOTö Tö_» åEõçXä$RôOç YÒ×TöZõ_Eõ ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì^ ?
ÌOôJôÛ _ç+Oô XÝäJôÌ[ åEõçX×OôãEõ YÒ×TöZõ_Eõ ×c÷açã[ý [ýî[ýc÷çÌ[ý EõãÌ[ý ?

a) concave mirror b) convex mirror c) plane mirror d) any of these
QöOwø_ VçãYçX %¾Tö_ VçãYçX a]Tö_ VçãYçX c÷OÌ̂ çã» ×^ãEõçãXç A$RôOç
=wø_ VYïX %[ýTö_ VYïX a]Tö_ VYïX å^åEõçX AEõOôç

80. ................... is known as queen of textiles :
..................... Eõ [ýØ—ö» »çSÝ ×c÷$JôçãY LXç ̂ çÌ^ :
..................... åEõ [ýäØ—öÌ[ý Ì[ýçSÝ ×c÷açã[ý LçXç ^çÌ̂  :

a) wool b) cotton c) silk d) jute
>S EõYçc÷ Yç$RôO ]»çYç$RôO
=_ aÉTöç åÌ[ý`] YçOô

81. An act of emission and diffusion of rays is known as :
»×`½» ×XGï]S %ç»ÓÇ ×[ý¬KÇ÷»SEõ åEõç¾ç c÷Ì̂   :
Ì[ý×`½Ì[ý ×XGï]S %çÌ[ý ×[ý¬KÇ÷Ì[ SãEõ [ý_ç c÷Ì̂   :

a) specific heat b) conduction c) radiation d) All the above
%çãY×lùEõ TöçY Y×»[ýc÷X ×[ý×Eõ»S %ç$RôOçc÷OãEõc÷O$RôOç
%çãY×lùEõ TöçY Y×Ì[ý[ýc÷X ×[ý×EõÌ[ýS a[ýEõÌ̂ Oôç

82. ................. is used in auto mobile industry as a dehydrating agent :
....................... Eõ %$RôO’]’[ýçc÷O_ QöOãVîçGTö ×XLÛ_ÝEõ»S Eõç»Eõ ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
.................. åEõ %ãOôçå]ç[ýç+_ ×`ã” ×XLÛ_ÝEõÌ[ýS EõçÌ[ýEõ ×c÷açã[ý [ýî[ýc÷ÖTö c÷Ì̂ *

a) hydrochloric acid b) turmeric acid c) citric acid d) sulphuric acid
c÷çc÷OQÎözõ×»Eõ A×$JôQö $RôOç»]ç×»Eõ A×$JôQö $Jôçc÷O×®ÏôEõ A×$JôQö $K÷ç_×ZõQöO×»Eõ A×$JôQö
c÷ç+QÎözõ×Ì[ýEõö A×aQö OôçÌ[ý]ç×Ì[ýEõ A×aQö aç+×®ÏôEõ A×aQö aç_×Zõ=×Ì[ýEõ A×aQö

83. .................................... is the basic structural and functional unit of a kidney.
........................ Eõ [ýÊhõ» GPöXç±ÁEõ %ç»Ó Eõç^ïîEõ»Ý %çWýç» å[ýçã_ :
................. c÷_ [ýÊãhõÌ[ý GPöXç±ÁEõ A[ýe Eõç ï̂îEõÌ»Ì[ýÝ %çWýçÌ[ý :

a) medulla b) capsule c) cortex d) nephron
å]QÇö_ç åEõY$JÇô_ Eõä$RôOÛj åXZÐõ»S
å]QÇö_ç åEõYaÇ_ EõåOôÛj åXZÐõÌ[ýS
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84. Speed of wind is measured by ................
[ýTöçc÷» å[ýG åLçFç ^Ü—öä$RôOç éc÷ä$K÷ :
[ýçTöçãaÌ[ý å[ýG ]çYçÌ[ý ^Ü—ö c÷_ :
a) Galvanometer b) Voltmeter c) Anamometer d) None of above

åG_ã\öX’ ×]$RôOç» \öDRôO×]$RôOç» A×X]’ ×]$RôOç» A$RôOçC Xc÷Ì̂
åG_ã\öX’ ×]OôçÌ[ý \öDRôO×]OôçÌ[ý A×X]’ ×]OôçÌ[ý åEõçãXçOôç+ XÌ̂

85. ................. is a part of the ovay and where fertilization takes places.
..................... éc÷ä$K÷ G\öÛç`Ì^» %e`, ̂ ’Tö ×Xãb$JôX a+ç×VTö c÷Ì^*
................ c÷_ G»\öÛç`ãÌ̂ Ì[ý %e` å^FçãX YÒLXX a¶Yç×VTö c÷Ì̂ *
a) stigma b) style c) ovule d) all of these

G\öÛ]Ç‰ø G\öÛV‰ø ×Qö=‘öEõ %ç$RôOçc÷O åEõc÷O$RôOç
G\öÛ]Ç‰ø G\öÛV‰ø ×Qö=‘öEõ a[ýEõÌ̂ Oôç

86. PVC stands for :
PVC » a+ÉSï Xç]ý :
PVC AÌ[ý a¶YÉ»Xï Xç] :
a) plastic vinegar chloride b) polyvinyl chlorine c) polyvinyl chloride d) none of these

YÀç×rôEõ ×\öãXGç» zõ»çc÷OQö Y×_×\öXçc÷O_ zõ×»S Y×_×\öXçc÷O_ zõ»çc÷OQö A$RôOçC Xc÷Ì̂
YÀç×rôEõ ×\öãXGçÌ[ý zõÌ[ýç+Qö Y×_×\öXç+_ zõ×Ì[ýS Y×_×\öXç+_ zõÌ[ýç+Qö AEõOôçC XÌ̂

87. Which of the following statements is correct ?
Tö_» åEõçXä$RôOç QöO×Nþ £ˆù ?
XÝäJôÌ[ý åEõçX =×Nþ £ˆù  :
a) acid + base = salt + water b) acid + base = salt

A×$JôQö + lùç» = ×X]F + YçXÝ A×$JôQö + lùç» = ×X]F
A×aQö + lùçÌ[ý = _[ýX + L_ A×aQö + lùçÌ[ý = _[ýX

c) both a and b d) None of these
a %ç»Ó b QöO\öãÌ̂ A$RôOçC Xc÷Ì̂
a %çÌ[ý b =\öãÌ̂ + AEõOôçC XÌ̂

88. When we hold a piece of ice in our hand, it feels cold. This is because :
[ý»Zõ A$RÇôOEÇõ»ç %ç×] c÷çTöTö _ã_ Pöç‰øç %XÇ\ö[ý Eõã»ç, Eõç»S :
AEõOÇõEõÌ[ýç [ýÌ[ýZõ c÷çãTö ×Xã_ Pöç‰øç %XÇ\ö[ý Eõ×Ì[ý, EõçÌ[ýS  :
a) the cold of the ice flows into our hands b) the heat of the ice flows into our hands

[ý»Zõ» ̀ ÝTö %ç]ç» c÷çTöê_ YÒ[ýç×c÷Tö c÷Ì^ [ý»Zõ» TöçY %ç]ç» c÷çTöê_ YÒ[ýç×c÷Tö c÷Ì^
[ýÌ[ýãZõÌ[ý Pöç‰øç %ç]çãVÌ[ý c÷çãTö YÒ[ýç×c÷Tö c÷Ì̂ [ýÌ[ýãZõÌ[ý TöçY %ç]çãVÌ[ý c÷çãTö YÒ[ýç×c÷Tö c÷Ì̂

c) the cold of our hands flows into the ice d) the heat of our hands flows into the ice
c÷çTö» ̀ ÝTö [ý»Zõ» ]çLê_ YÒ[ýç×c÷Tö c÷Ì̂ c÷çTö» TöçY [ý»Zõ» ]çLê_ YÒ[ýç×c÷Tö c÷Ì̂
c÷çãTöÌ[ý Pöç‰øç [ýÌ[ýãZõ YÒ[ýç×c÷Tö c÷Ì̂ c÷çãTöÌ[ý TöçY [ýÌ[ýåZõÌ[ý ]Wýî ×VÌ̂ ç YÒ[ýç×c÷Tö c÷Ì̂
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89. Ovules of the flowers turn in to :
YÇ¹Y» ×Qö=‘öEõä$RôOç Y×»¾×TöÛTö c÷Ì^  :
ZÇõã_Ì[ý ×Qö¶‘öEõ XÝäJôÌ[ý åEõçX×OôåTö Y×Ì[ý[ý×TöÛTö c÷Ì̂  :
a) seeds b) ovary c) pollen d) fruit

[ýÝL G\öÛç`Ì^ å»SÇ Zõ_
[ýÝL G\öÛç Ì̂̀ åÌ[ýSÇ Zõ_

90. The celphones use what kind of waves for the transfer of data :
æ$Jô_ãZõçãX TöUî æYÒ»S» [ýçã[ý åEõçXä$RôOç Tö»† [ýî¾c÷ç» Eõã» ?
åa_ãZõçX TöUî æYÌÒÌ[ýãXÌ[ý LXî åEõçX TöÌ[ý† [ýî[ýc÷çÌ[ý EõãÌ[ý ?
a) radio b) light c) sound d) electro-magnetic

å»×Qö%’ åYçc÷» `Œ ×[ýVÇîd $JÇô=‘öEõÝÌ̂
å»Ì[ý×QöC %çã_ç `Œ ×[ýVÇîd JÇô¶‘öEõÝÌ̂

91. Which of the following can react with cold water ?
Tö_» åEõçXä$RôOçã¾ æ$Jgô$Jôç YçXÝ» éaãTö ×[ý×yÔÌ^ç Eõã» ?
XÝäJôÌ[ý åEõçX×Oô Pöç‰øç Lã_Ì[ý açãU ×[ý×yÔÌ̂ ç HOôçÌ̂  ?
a) Ag                  b)    K             c)    Al                d)    None of these (A$RôOçC Xc÷Ì̂  / AEõ×$RôOC XÌ̂ )

92. Chemically rust is :
]ç]»» »çaçÌ̂ ×XEõ »ÖYä$RôOç éc÷ä$K÷ :
]×Ì[ýJôçÌ[ý Ì[ýçaçÌ̂ ×XEõ Ì[ý»ÖY c÷_ :
a) Fe b) Fe2O3 c) Fe3O d) Fe2O3H2O

93. Which of the following element(s) can not react with other elements :
Tö_» åEõçXã[ýç» å]ì_c÷O %çX å]ì_» _GTö ×[ý×yÔÌ^ç XEõã» ?
XÝäJôÌ[ý åEõçX å]ì_m×_ %Xî å]ìã_Ì[ý açãU ×[ý×yÔÌ̂ ç EõãÌ[ý Xç ?
a) He b) Ne c) Xe             d)    All the above %ç$RôOçc÷OãEõc÷O$RôOç / a[ýEõÌ̂ Oôç

94. The life span of RBC  is about :
å_ç×c÷Tö »Nþ Eõ×SEõç» LÝ¾XEõç_ YÒçÌ^  :
å_ç×c÷Tö Ì[ýNþ Eõ×XEõçÌ[ý LÝ[ýXEõç_ YÒçÌ̂  :
a) 10 days b) 120 days c) 65 days d) 35 days

10 ×VX 120 ×VX 65 ×VX 35 ×VX

95. The nature of the image formed by a convex mirror is always :
%¾Tö_ VçãYçXTö aÊ×rô åc÷ç¾ç YÒ×Tö×[ý=‘ö aVçÌ^ :
%[ýTö_ VYïãX aÊ×rô c÷CÌ̂ ç YÒ×Tö×[ý¶‘ö a[ýïVç :
a) diminished b) virtual c) Both a & b c) none of these

aeáÇø×$JôTö %[ýçØ™ö¾ a %ç»Ó b QöO\öÌ̂ A$RôOçC Xc÷Ì̂
aeáÇø×$JôTö %[ýçØ™ö[ý a %çÌ[ý b =\öãÌ̂ + AEõÌOôçC XÌ̂
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96. Tube lights consume less electrical energy than bulbs because :
[ýç_ŸTöêEõ ×$RôOQöO[ý _çc÷O$RôOTö Eõ] ×[ýVÇîd ̀ ×Nþ [ýîÌ^ åc÷ç¾ç» Eõç»S :
[ýç_Ÿ åUãEõ ×Oô=[ý _ç+åOô ×[ýVÇîd`×Nþ [ýîÌ̂  Eõ] c÷CÌ̂ çÌ[ý EõçÌ[ýS :

a) there is minimum loss in the form of heat.  b) tube lights are bigger in size
TöçY %×Tö Eõ] [ýîÌ^ c÷Ì^ ×$RôOQöO[ý _çc÷O$RôO %çEõç»Tö QöçIø»
TöçY %×Tö Eõ] [ýîÌ^ c÷Ì^ ×O =[ý _ç+åOôÌ[ý %çEõçÌ[ý [ýQÍö

c) the colour of light of the tube lights and bulbs differ  d) the filament of the bulb burns.
×$RôOQöO[ý _çc÷O$RôO %ç»Ó [ýç_Ÿ» åYçc÷»» »e å[ý_G å[ýã_G [ýç_Ÿ» ×Zõ_çã]³RôO YÒL×_Tö c÷Ì̂
×Oô=[ý _ç+Oô %çÌ[ý [ýçã_ŸÌ[ý %çã_çÌ[ý Ì[ýe ×\ö~ ×\ö~ [ýçã_ŸÌ[ý ×Zõ_çã]³O Lâã_ ^çÌ̂

97. Which of the following is not correctly matched :
Tö_» åEõçXä$RôOç a#ç a×PöEõ Xc÷Ì̂  :
XÝäJôÌ[ý åEõçX×Oô a×PöEõ\öçã[ý açLçãXç XÌ̂  :
i) plane mirror - virtual, same size          a]Tö_ VçãYçX - %[ýçØ™ö¾, %çEõç»Tö a]çX / a]Tö_ VYïX-%[ýçØ™ö[ý, %çEõçåÌ[ý a]çX*ö
ii) concave mirror - virtual, enlarged        QöOwø_ VçãYçX - %[ýçØ™ö¾, [ý×WýïTö / =wø_ VYïX-%[ýçØ™ö[ý, [ý×WýïTö
iii) convex mirror - real, diminished.          %¾Tö_ VçãYçX - [ýçØ™ö¾, aeEÇõ×$JôTö / %[ýTö_ VYïX - [ýçØ™ö[ý, aeEÇõ×JôTö

a)  i              b)   ii    c)   iii                   d)   both ‘b’ & ‘c’ (b %ç»Ó c QöO\öãÌ^ / b %çÌ[ý c QöO\öãÌ̂ )

98. The inert form of carbon is :
Eõç[ýïX» ×X×›˜õÌ^ »ÖYä$RôOç éc÷ä$K÷ :
Eõç[ýïãXÌ[ý ×X×›˜õÌ̂  Ì[ý»ÖY×Oô c÷_ :

a) diamond b) graphite c) coal d) charcoal
c÷Ý»ç æGÐZõçc÷O$RôO EõÌ̂ _ç AIøç»
c÷ÝÌ[ýç æGÐZõçc÷O$RôO EõÌ̂ _ç EõçPöEõÌ̂ _ç

99. The harmful ultraviolet radiation of the sun does not reach the surface of the earth. This is because high above the
earth’s atmosphere there is a layer containing :
aÉ^ï» Y»ç ×[ý×Eõ×»Tö %×Töã[ýIÇøXÝÌ^ç »×`½ YÊ×U¾Ý YÊœöê_ %ç×c÷[ý åXç¾çã» Eõç»S YÊ×U¾Ý» [ýçÌ^É]‰ø_» CY»Tö ............... » A$RôOç Ø™ö» %çä$K÷*
aÉã ï̂Ì[ý %×Töã[ýmXÝ Ì[ý×`½ YÊ×U[ýÝYÊãœö Xç %çaçÌ[ý EõçÌ[ýX YÊ×U[ýÝÌ[ý [ýçÌ̂ Ç]‰øã_Ì[ CYã»Ì[ý ............... AÌ[ý Ø™öÌ[ý %çäK÷*

a) CO2 b) O3 c) O2 d) NH3

100.The molecule of life is :
LÝ¾» %çX×[ýEõ AEõEõä$RôOç éc÷ä$K÷ :
LÝã[ýÌ[ý %çS×[ýEõ AEõEõ c÷_ :
a) protein b) carbohydrate c) nucleic acid d) lipid

YÒ’×$RôOX `Eïõ»ç ×XQöO×zõEõ A×$JôQö åØoöc÷ YVçUï
æYÒç×OôX `EïõÌ[ýç ×X=×zõEõ A×aQö åØoöc÷ YVçUï

*************
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